Deciduous Trees - SOLUTION
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shade majestic wood woodpecker
bark leaves seedling sway
trunk growing birch timber
maple tire swing green logs
elm branches insects majestic
white oak squirrel rustle deciduous
water bird's nest wind buds
soil stump hammock aspen
sunlight rings chestnut poplar
tall tree house acorn willow
To find the answer to the trivia question, look for a word or phrase that is hidden in the puzzle, but not in the word list
Trivia: An oak tree will not produce its first acorn until it reaches this age.

Answer: twenty years
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